<d B>,

174
| B PELCO PRODUCTS, INC.

www.pelcoinc.com
) EDMOND, OK 73013

405-340-3434
FAX: 405-340-3435

This drawing is for reference only. It is the
property of Pelco and is not to be used in
whole or in part without Pelco's permission.

ASSEMBLY SHEET

REF:

State of Florida

TITLE:

Sign Bracket, Free-Swinging Mast Arm
Mini-Brac, Stainless Cable Mount, Alum SP-1072-FL
EDOT Approval No. 65910272011073

PART NO.:

AK-1011-SB-SS-FL-PXX_/
Assy Kit

PPI XX-XX-XX

DOT Peen
SP-1072-FL

PART NO
SP-1072-FL-45-PNC
Cable LengthJ

Process No Color=PNC
Paint=PXX

k AK-1011-11-11-SB-SS-FL-PXX
[~ Assy Kit

OPTIONS
Cable Length:
45" Fits 4"-12" Dia Pole
84" Fits 4"-22" Dia Pole
Paint

REV
brawn: L ACORD  pate2/5/2004 I chkp:KBM DATE:5/18/2005| Rrev: M-3/5/12 CO I chkpSWA

oare 3612012 | SHEET 1 OF 2




7T i
‘i’ %@pr\%cggg%%? This drawing is for reference only. It is the
\‘_',’ 405-340-3434 property of Pelco and is not to be used in ASS E M B LY S H E ET

PELCO PRODUCTS INC' FAX: 405-340-3435 whole or in part without Pelco's permission.

REF: TITLE: . PART NO.:
State of Florida Sign Bracket, Free-Swinging Mast Arm
Mini-Brac, Stainless Cable Mount, Alum SP-1072-FL
EDOT Approval No. 65910272011073
ITEM PART NUMBER DESCRIPTION QTY
1 |SP-1076-FL-PXX Astro Mini-Brac, 1-1/2" NPS, Stainless Cable Mount, Alum 2
2 |AK-1011-SB-SS-FL Assy Kit, Span Wire, Connector Hanger, Stainless Upgrade, Tri-Stud, Florida 1
Markings, Alum
2-1 |SE-0371-M1 Adapter, Span Wire w/ Stainless Bushing, Alum 1
2-2 |SE-0464-M2 Hanger, Clevis-Clevis, 1/2" x 1/2" w/ Stainless Bushings, Alum 1
2-3 | SE-0508-M2 Hanger, Extender Connector, 2-Hole, Stainless Bushing, Alum 1
2-4 |FS-2019-SS Bolt, Hex Hd, 5/16"-18 x 1-1/4", Type 304 Stainless 2
2-5 |FS-4201-SS Lock Washer, Split, 5/16", Type 304 Stainless 2
2-6 |FS-1001-SS Nut, Hex 5/16"-18, Type 304 Stainless 2
2-7 |SE-5123-SS Hardware Kit, Tri-Stud w/ Gasket, 5/16"-18, Stainless Slotted Washer & 1
Hardware
2-8 |SE-0512-M1 Hanger Body, Tri-Stud, 5/16"-18, Alum 1
2-9 |FS-6000-SS Pin, Clevis 5/8" X 2-1/4", Stainless 2
2-10 |FS-6100-SS Pin, Cotter, Humped, 5/32" X 1.775", 304 Stainless 2
3 |AK-1011-11-11-SB-SS-FL |Assy Kit, Span Wire, Hanger w/ Extenders, Stainless Upgrade, Tri-Stud, Florida 1
Markings, Alum
3-1 [SE-0371-M1 Adapter, Span Wire w/ Stainless Bushing, Alum 1
3-2 |SE-0464-M2 Hanger, Clevis-Clevis, 1/2" x 1/2" w/ Stainless Bushings, Alum 1
3-3 |SE-0508-M2 Hanger, Extender Connector, 2-Hole, Stainless Bushing, Alum 1
3-4 |FS-2006-SS Bolt, Hex Hd, 5/16"-18 x 1", Type 304 Stainless 4
3-5 |FS-4201-SS Lock Washer, Spilit, 5/16", Type 304 Stainless 6
3-6 |FS-1001-SS Nut, Hex 5/16"-18, Type 304 Stainless 6
3-7 |SE-0507-11 Extender w/ Holes, Alum 2
3-8 |FS-2019-SS Bolt, Hex Hd, 5/16"-18 x 1-1/4", Type 304 Stainless 2
3-9 |SE-5123-SS Hardware Kit, Tri-Stud w/ Gasket, 5/16"-18, Stainless Slotted Washer & 1
Hardware
3-10 |SE-0512-M1 Hanger Body, Tri-Stud, 5/16"-18, Alum
3-11 |FS-6000-SS Pin, Clevis 5/8" X 2-1/4", Stainless 2
3-12 |FS-6100-SS Pin, Cotter, Humped, 5/32" X 1.775", 304 Stainless 2

REV
prawn: L ACORD paTe2/5/2004 I chkp:KBM DATE:5/18/2005I Rrev: M-3/5/12 CO I chkpCWA parE: 3/6/2012 I SHEET 2 OF 2




